LT

~N

n
R

B & s KB\t %éif-f,;{f»?n)\ﬁlrvé»f{ %é&(%mgc%%)ﬁg@?

g

I Please explain the following terms:(15%)
a. CAD/CAM
b. BOM
c. DFM
d. MPS
.. MTBF

2. Given the following historical data:

wecek I 2 3 4 5 6 7 8 9 10 11 12

value 17 21 19 23 18 16 20 18 22 20 15 22

a. Please find the forecast F for week 13 via exponential smoothing with =0.2,
(12%) - ol
b. Please find MSE and MAD for the forecast of weck 2--12.(6%)

3. NCKU Hospital consumes 24,000 cases tissue annually. The inventory holding
charge is 18% ofits cost and the ordering cost is NT$38 per order. Assuming the
supplier offers the following discount for different order size:

order size discount unit cost
0---3,999 0% NTS12
4,000---11,999 3% NTS$11.64
12,000 and over 5% NT$11.40
Please find the EOQ for tissue. 9%)

4. Given the follbwing data for a single machine:

job A B C D E F
processing
time 2 8 4 10 5 12
due date 7 16 4 17 15 18
: 4% )
a. Please find the sequence for the smallest average flowtime. (4 /6

b. Please find the sequence for minimizing the maximum job tardiness. (4%)




. A TR o A
BB RE 87 FFB i x o F R 29

QQ-N
2
&
o/
=
| IRV
o e

SANBRAE T3\ %0 Cxth, BRUCH)

I BERRE Gy ( Zor bue hudgeting
w) /5K R Ras (Coporate mocial respomaivensma)
. 5% % W ( Crdemgenat Reory )
Q) B R KBRS Cocer, polfelio makaix).
\e>./\sz V% C Qref e M)

b ¥ R PR Clormp Mindyheny )3 s %’éyz)@,/\‘;g\/(y\yﬁ@\(,g 'S

B2 WY 3, Lio'h) \
1. 38 €L A vl o s e\ 2k 6% B VB o)




